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Exercice 1

Cocher les bonnes réponses :

175 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

33 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

810 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

639 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

34 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

Exercice 2

Cocher les bonnes réponses :

630 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

310 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

603 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

216 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

126 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

Exercice 3

Cocher les bonnes réponses :

320 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

720 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

170 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

102 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

940 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

Exercice 4

Cocher les bonnes réponses :

230 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

78 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

80 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

387 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

62 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

Exercice 5

Cocher les bonnes réponses :

240 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

166 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

130 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

350 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

747 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

Exercice 6

Cocher les bonnes réponses :

819 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

490 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

130 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

78 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10

39 est divisible : � par 2 � par 3 � par 5 � par 9 � par 10
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